Example 1.
Water catchment has experience a 12.7 cm of total rainfall. The catchment is covered by pasture with medium grazing and 32 % of B soil and 68% of C soils. This event has been preceded by 6.35cm of rain in the last 5 days. Follow the SCS methodology; determine the direct runoff for the 12.7cm rain event.
A fair hydrological condition is chosen for the pasture with medium grazing. The runoff curve numbers are CN = 69 for B soils and CN = 79 for C soils. The weighted CN is:
CN = (69*.32) + (79*.68) = 76
Since the event is preceded by substantial rainfall in the last few days, AMC III is chosen. From the CORRESPONDING RUNOGG FOR THREE AMC CONDITIONS for AMCII CN = 76, AMC III CN = 89. Using equation 5.9 from Text book (page 157), with CN = 89 and P=12.7cm a value of Q = 9.58cm is obtained.
Example 2 is from http://www.coic.org/cd/stormwater/docs/Manual/Chapter05.pdf  on CN calculations 
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GIVEN

« The existing site is approximately 10-acres, cousisting of Type B soils. Existing surface
‘vegetative conditions include short grass and weeds.

« Postdeveloped ste conditions consist of
o 38-10,000 square foot ots;
o 1,500 sq t homes with 500 sq t deiveways;
o 13 acte of oad impervious aeas; and,
o Nosidewalks are proposed.

CALCULATIONS

1. Find the CNs for the lawn areas and the roofs, driveways, and streets.
From CNTables
CN=61  pemeable areas - lawns (good condition) ~ Type B soils
CN=98  impervious areas - streets, driveways, and roofs.

2. Calcutate the CN for the impervious basin. The connected impervious areas are the.
driveways and the sireets. No weighting is required because the CNs for the impervious

areas are the same
‘Totaldriveway area: (38 driveways)*(500 sq fudiveway) = 19,000 sq ft = 0.44 ac
‘Total connected impervious area: 1.3 ac (1oads) + 044 ac (driveways) = 1.74ac
CNFOR THE IMPERVIOUS BASIN = 9§

3. Calculate the CN for the pemeable basin. Although the roof area is impervious, it an be:
‘weighted with the lawn area because the two ase considered bomogeneous; (i, the 100fs
drain onto landscaped areas and are not hydraulically connected to the roads of
driveways)

Total roof area: (38 houses)*(1500 sq froof) = 57,000 sq ft = 131 ac

‘Total lawn area:  Total site —total impervious area = 10 ac —1.74 ac — 1.31 ac = 695
ac

Total permeable basin: 131 a¢ + 6.95 ac = 826 a¢

Weighted CN forpermeabiebasa: 22D _ 597 7

CNFOR THE PERMEABLE BASIN = 67




